X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
1 NS: Z30E SIBIEGHO) -11 9 NS: BR#R 2L E(BAC) 21 VP:| 1.96 : 18.04| Total VP: 72.46 Rank:
EW: SR £FBEREAC) -21 EW: &|FZ R#I<F(B0) 11 IMP:| 7 . 35 9
— A I
#1 45 3SE3 -140 Mean: 3DW-6 300 9.0 1 |[#2 s T7 3SW3 -140 Mean: 1NE-3 150 50 1
v A9 4SE-150 -100 4SXE-1 100 50 3 v KJ873 1NE-2100 -20  1NE-2 100 30 3
«» AK97 Dif: -190 NS:-1  4SE-1 50 40 3 ¢ QT9 Dif: -240 NS:-3 4SW-1 50 20 2
& A98643 IMP: -5 EW:-4 3SE3 140 1.0 2 & AT9 IMP: -6 EW:-3 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE4 -620 Mean: 5SE-1 100 120 1
6HS6 980 650  4HS6 480 50 8 v A82 4SE5 -650 -580  4SE4 620 1.0 4
Dif: -500 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: 30 NS:-1 5SE5 650 2.0 1
IMP: -11 EW:-8 & JT53 IMP: 1 EW:2 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-1-100 Mean: 3NS4 630 120 1 ||#6 s J5 3CS3110 Mean: 3CS3 110 40 4
v 983 3NN3 600 -10  3NN3 600 120 2 v JT 3SW3 -140 -20  3CN4 130 40 1
+ KJ3 Dif: -700 NS:-3 3CN3 110 3.0 1 + Q854 Dif: 250 NS:4 1NN1 90 30 1
& AJ963 IMP: -12 EW:-12 4CN-1 100 3.0 1 & KQJ97 IMP: 6 EW:3 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 1SE2 -110 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS4 430 Mean: 4SN5 450 20 5
v Q98 2SE2 -110 -20  2NE-2 200 60 1 v AKT2 4SN5450 400 3NS5 460 2.0 4
¢ J93 Dif: 0 NS:-3 3SE-1 100 3.0 1 . Dif: 20 NS:1  3Ns4 430 1.0 3
& J962 IMP: 0 EW:3 3NE-1 100 3.0 1 & K54 IMP: -1 EW:-2 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
2 NS: Z$EE EHFI(BEO) -9 1 1 NS: 5 BREE(BAC) 8 VP:| 4.77 : 15.23| Total VP: 80.18 Rank:
EW: Z$H5F ESAEREAC) -8 EW: [RZ5E FiEB(BAO) 9 IMP:| 9 24 6
- A —
#1 45 4SXE-1 100 Mean: 3DW-6 300 9.0 1 |[#2 s T7 1NE-1 50 Mean: 1NE-3 150 50 1
v A9 5DXS-2 -300 -100  4SXE-1 100 50 3 v KJ873 4SW-150 20  1NE-2 100 30 3
«» AK97 Dif: 400 NS:5 4SE-1 50 40 3 ¢ QT9 Dif: 0 NS:2 4SW-1 50 20 2
& A98643 IMP: 9 EW:5 3SE3 140 1.0 2 & AT9 IMP: 0 EW:-2 1NE-1 50 20 1
& AT94 » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 763 5DXS-3 500 -9.0 1 ¢ VAN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HNG6 480 Mean: 6HS6 980 80 5 ||#4 » K54 4SW5 -650 Mean: 5SE-1 100 120 1
6HS6 980 650  4HS6 480 50 8 v A82 4SE4 -620 -580 4SE4 620 -1.0 4
Dif: -500 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: -30 NS:-2 5SE5 650 2.0 1
IMP: -11 EW:-8 & JT53 IMP: -1 EW:1 4SW5 650 20 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2 -200 Mean: 3NS4 630 120 1 ||#6 s J5 3SW3 -140 Mean: 3CS3 110 40 4
v 983 3NN-2-200 -10  3NN3 600 120 2 v JT 3CS3110 -20  3CN4 130 40 1
+ KJ3 Dif: 0 NS:-5 3CN3 110 3.0 1 + Q854 Dif: -250 NS:-3 1NN1 90 30 1
& AJ963 IMP: 0 EW:5 4CN-1 100 3.0 1 & KQJ97 IMP: -6 EW:-4 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
+ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 1SW3 -140 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS5 460 Mean: 4SN5 450 20 5
v Q98 3HE-1100 -20  2NE-2 200 60 1 v AKT2 4SN5 450 400 3NS5 460 2.0 4
¢ J93 Dif: -240 NS:-3 3SE-1 100 3.0 1 . Dif: 10 NsS:2 3Ns4 430 1.0 3
& J962 IMP: -6 EW:-3 3NE-1 100 3.0 1 & K54 IMP: 0 EW:-2 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
3 NS: PhZEB &o22(5H0) 4 5 NS: 281 ¥EEREEC) -4 VP:| 1242 : 7.58 | Total VP: 86.76 Rank:
EW: HhELNE TRIEREEAC) 4 EW: [RE3 2% (BAO) -4 IMP:| 19 : 13 4
— A -
#1 45 3SE4 -170 Mean: 3DW-6 300 9.0 1 |[#2 s T7 1NE-2 100 Mean: 1NE-3 150 50 1
v A9 4SE-150 -100  4SXE-1 100 50 3 v KJ873 3SW3 -140 -20 1NE-2 100 30 3
«» AK97 Dif: -220 NS:-2 4SE-1 50 40 3 ¢ QT9 Dif: 240 NS:3  4SW-1 50 20 2
& A98643 IMP: -6 EW:-4 3SE3 140 1.0 2 & AT9 IMP: 6 EW:3 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢ VAN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 480 Mean: 6HS6 980 80 5 ||#4 » K54 5SE-1 100 Mean: 5SE-1 100 120 1
4HS6 480 650  4HS6 480 50 8 v A82 4SW5 -650 -580 4SE4 620 1.0 4
Dif: 0 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: 750 NS:12 5SE5 650 2.0 1
IMP: 0 EW:5 & JT53 IMP: 13 EW:2 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-4 -400 Mean: 3NS4 630 120 1 ||#6 s J5 3SW3 -140 Mean: 3CS3 110 40 4
v 983 4CN-1-100 -10  3NN3 600 120 2 v JT 3SW3 -140 -20  3CN4 130 40 1
+ KJ3 Dif: -300 NS:-9 3CN3 110 3.0 1 + Q854 Dif: 0 NS:-3 1NN1 90 30 1
& AJ963 IMP: -7 EW:3 4CN-1 100 3.0 1 & KQJ97 IMP: 0 EW:3 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 2NE-2 200 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS5 460 Mean: 4SN5 450 20 5
v Q98 4SE-2200 -20  2NE-2 200 60 1 v AKT2 3NS5460 400 3NS5 460 2.0 4
¢ J93 Dif: 0 NS:6 3SE-1 100 3.0 1 . Dif: 0 NS:2 3Ns4 430 1.0 3
& J962 IMP: 0 EW:-6 3NE-1 100 3.0 1 & K54 IMP: 0 EW:-2 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
4 NS: ¥i845 £5¥752(5H0) -34 13 NS: Rt ZFHRZ(BAC) -2 VP:| 1.63 : 18.37| Total VP: 61.51 Rank:
EW: E1{&{& EEEEIC) 2 EW: EE ik T51E(FIO) 34 IMP:| 7 37 12
I A I
#1 45 5DXS-3 -500 Mean: 3DW-6 300 9.0 1 |[#2 s T7 3SW3 -140 Mean: 1NE-3 150 50 1
v A9 3SE3 -140 -100  4SXE-1 100 50 3 v KJ873 2HN-1-100 -20  1NE-2 100 30 3
«» AK97 Dif: -360 NS:-9 4SE-1 50 40 3 ¢ QT9 Dif: -40 NS:-3 4SW-1 50 20 2
& A98643 IMP: -8 EW:1 3SE3 140 1.0 2 & AT9 IMP: -1 EW:2 1NE-1 50 20 1
& AT94 » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE5 -650 Mean: 5SE-1 100 120 1
6HS6 980 650  4HS6 480 50 8 v AB2 3NW5 -660 -580 4SE4 620 -1.0 4
Dif: -500 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: 10 NS:-2 5SE5 650 2.0 1
IMP: -11 EW:-8 & JT53 IMP: 0 EW:2 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3CN3 110 Mean: 3NS4 630 120 1 ||#6 s J5 3SW3 -140 Mean: 3CS3 110 40 4
v 983 3NS-2-200 -10  3NN3 600 120 2 v JT 1NN190 -20 3CN4 130 40 1
+ KJ3 Dif: 310 NS:3 3CN3 110 3.0 1 + Q854 Dif: -230 NS:-3 1NN1 90 30 1
& AJ963 IMP: 7 EW:5 4CN-1 100 3.0 1 & KQJ97 IMP: -6 EW:-3 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 3CS-2-200 Mean: 4SE-2 200 60 1||#8 » QJT965 6SN-1-50 Mean: 4SN5 450 20 5
v Q98 3CS-2-200 -20  2NE-2 200 60 1 v AKT2 3NS5460 400 3NS5 460 2.0 4
¢ J93 Dif: 0 NS:-5 3SE-1 100 3.0 1 . Dif: -510 NS:-10 3NS4 430 1.0 3
& J962 IMP: 0 EW:5 3NE-1 100 3.0 1 & K54 IMP: -11 EW:-2 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
5 NS: f2{8ik BEEREHC) 4 3 NS: KB £ RZ(FH0) 4 VP:| 7.58 : 12.42| Total VP: 62.02 Rank:
EW: BEE £2EI0) 4 EW: M E#E 5RI&E(BAC) 4 IMP:| 13 : 19 1
o A —
#1 45 3SE4 170 Mean: 3DW-6 300 9.0 1 |[#2 s T7 1NE-2 -100 Mean: 1NE-3 150 50 1
v A9 4SE-1-50 -100  4SXE-1 100 50 3 v KJ873 3SW3 140 -20 1NE-2 100 30 3
«» AK97 Dif: 220 NS:4 4SE-1 50 40 3 ¢ QT9 Dif: -240 NS:-3 4SW-1 50 20 2
& A98643 IMP: 6 EW:2 3SE3 140 1.0 2 & AT9 IMP: -6 EW:-3 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 -480 Mean: 6HS6 980 80 5 ||#4 » K54 5SE-1-100 Mean: 5SE-1 100 120 1
4HS6 -480 650  4HS6 480 50 8 v A82 4SW5 650 -580 4SE4 620 1.0 4
Dif: 0 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: -750 NS:-2 5SE5 650 2.0 1
IMP: 0 EW:5 & JT53 IMP: -13 EW:-12 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-4 400 Mean: 3NS4 630 120 1 ||#6 s J5 3SW3 140 Mean: 3CS3 110 40 4
v 983 4CN-1100 -10  3NN3 600 120 2 v JT 3SW3140 -20 3CN4 130 40 1
+ KJ3 Dif: 300 NS:-3 3CN3 110 3.0 1 + Q854 Dif: 0 NS:-3 1NN1 90 30 1
& AJ963 IMP: 7 EW:9 4CN-1 100 3.0 1 & KQJ97 IMP: 0 EW:3 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 2NE-2 -200 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS5 -460 Mean: 4SN5 450 20 5
v Q98 4SE-2 -200 -20  2NE-2 200 60 1 v AKT2 3NS5 -460 400 3NS5 460 2.0 4
¢ J93 Dif: 0 NS:6 3SE-1 100 3.0 1 . Dif: 0 NS:2 3Ns4 430 1.0 3
& J962 IMP: 0 EW:-6 3NE-1 100 3.0 1 & K54 IMP: 0 EW:-2 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
6 NS: S BRIEHT(BHO) -25 14 NS: ZBigsl BRER(BAC) 12 VP:| 2.31 : 17.69| Total VP: 57.24 Rank:
EW: B85 s=xEEIC) -12 EW: [RE % SHE(BIO) 25 IMP:| 8 34 13
I A
#1 45 5HXS-3 -500 Mean: 3DW-6 300 9.0 1 |[#2 s T7 4SW-150 Mean: 1NE-3 150 50 1
v A9 3DW-6 300 -100  4SXE-1 100 50 3 v KJ873 3SW3 -140 -20  1NE-2 100 30 3
«» AK97 Dif: -800 NS:-9 4SE-1 50 40 3 ¢ QT9 Dif: 190 NS:2 4SW-1 50 20 2
& A98643 IMP: -13 EW:-9 3SE3 140 1.0 2 & AT9 IMP: 5 EW:3 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE5 -650 Mean: 5SE-1 100 120 1
4HS6 480 650  4HS6 480 50 8 v A82 4SE5 -650 -580  4SE4 620 1.0 4
Dif: 0 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: 0 NS:-2 5SE5 650 2.0 1
IMP: 0 EW:5 & JT53 IMP: 0 EW:2 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 4HS-3 -300 Mean: 3NS4 630 120 1 ||#6 s J5 3CN-1-50 Mean: 3CS3 110 40 4
v 983 3NS4630 -10  3NN3 600 120 2 v JT 3SW3 -140 -20  3CN4 130 40 1
+ KJ3 Dif: -930 NS:-7 3CN3 110 3.0 1 + Q854 Dif: 90 NS:-1  1NN1 90 30 1
& AJ963 IMP: -14 EW:-12 4CN-1 100 3.0 1 & KQJ97 IMP: 3 EW:3 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 2SW3 -140 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS3 400 Mean: 4SN5 450 20 5
v Q98 3SE-1100 -20  2NE-2 200 60 1 v AKT2 3NS4 430 400 3NS5 460 2.0 4
¢ J93 Dif: -240 NS:-3 3SE-1 100 3.0 1 . Dif: -30 NS:0 3NS4 430 1.0 3
& J962 IMP: -6 EW:-3 3NE-1 100 3.0 1 & K54 IMP: -1 EW:-1 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
7 NS: BREESH = (BH0) 22 1 2 NS: #B{E32 FBH(BAC) -7 VP:| 17.50 : 2.50 Total VP: 74.31 Rank:
EW: BRHEE SEREAC) 7 EW: Z25Ei8 €15 7K(BAO) -2 IMP:| 31 : 6 8
- A I
#1 45 4SXE-1 100 Mean: 3DW-6 300 9.0 1 |[#2 s T7 3SW3 -140 Mean: 1NE-3 150 50 1
v A9 4SE-150 -100  4SXE-1 100 50 3 v KJ873 3SW3 -140 -20 1NE-2 100 30 3
«» AK97 Dif: 50 NS:5 4SE-1 50 40 3 ¢ QT9 Dif: 0 NS:-3 4SW-1 50 20 2
& A98643 IMP: 2 EW:-4 3SE3 140 1.0 2 & AT9 IMP: 0 EW:3 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
6HS6 980 Mean: 6HS6 980 80 5 ||#4 » K54 5SE5 -650 Mean: 5SE-1 100 120 1
4HS6 480 650  4HS6 480 50 8 v A82 4SE5 -650 -580  4SE4 620 1.0 4
Dif: 500 NS:8 4HN6 480 -50 1 ¢ 765 Dif: 0 NS:-2 5SE5 650 2.0 1
IMP: 11 EW:5 & JT53 IMP: 0 EW:2 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN3 600 Mean: 3NS4 630 120 1 ||#6 s J5 3SW3 -140 Mean: 3CS3 110 40 4
v 983 3NN-2-200 -10  3NN3 600 120 2 v JT 3CS3110 -20  3CN4 130 40 1
+ KJ3 Dif: 800 NS:12 3CN3 110 3.0 1 + Q854 Dif: -250 NS:-3 1NN1 90 30 1
& AJ963 IMP: 13 EW:5 4CN-1 100 3.0 1 & KQJ97 IMP: -6 EW:-4 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 3HE-1 100 Mean: 4SE-2 200 60 1||#8 » QJT965 4SN5 450 Mean: 4SN5 450 20 5
v Q98 1NE1-90 -20 2NE-2 200 60 1 v AKT2 4SN5 450 400 3NS5 460 2.0 4
¢ J93 Dif: 190 NS:3  3SE-1 100 3.0 1 . Dif: 0 NS:2 3Ns4 430 1.0 3
& J962 IMP: 5 EW:2 3NE-1 100 3.0 1 & K54 IMP: 0 EW:-2 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




8 1122 Z 2ABERELE 2 == RS 8

#1: 13 JEH (127.18) #2: 11 BB 5 (115.96) #3: 10 FFHR(102.22)

8 NS: 27 HFZGEO) -6 1 O NS: R25hZ REF(BAC) 10 VP:| 5.32 : 14.68| Total VP: 69.56 Rank:
EW: #58E5 EZZEIC) -10 EW: 25538 {ItHE(BAO) 6 IMP:| 11 : 24 10
o A -
#1 45 6DXS-3 -500 Mean: 3DW-6 300 9.0 1 |[#2 s T7 1NE-3 150 Mean: 1NE-3 150 50 1
v A9 4SXE-1100 -100  4SXE-1 100 50 3 v KJ873 1NE-2100 -20  1NE-2 100 30 3
«» AK97 Dif: -600 NS:-9 4SE-1 50 40 3 ¢ QT9 Dif: 50 NS:5 4SW-1 50 20 2
& A98643 IMP: -12 EW:-5 3SE3 140 1.0 2 & AT9 IMP: 2 EW:-3 1NE-1 50 20 1
& AT94 » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE4 -620 Mean: 5SE-1 100 120 1
6HS6 980 650  4HS6 480 50 8 v A82 4SE4 -620 -580 4SE4 620 -1.0 4
Dif: -500 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: 0 NS:-1 5SE5 650 2.0 1
IMP: -11 EW:-8 & JT53 IMP: 0 EW:1 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2 -200 Mean: 3NS4 630 120 1 ||#6 s J5 3CS3 110 Mean: 3CS3 110 40 4
v 983 3NN-3 -300 -10  3NN3 600 120 2 v JT 3CN4130 -20  3CN4 130 40 1
+ KJ3 Dif: 100 NS:-5 3CN3 110 3.0 1 + Q854 Dif: 20 NS:4 1NN1 90 30 1
& AJ963 IMP: 3 EW:7 4CN-1 100 3.0 1 & KQJ97 IMP: -1 EW:-4 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 3NE-1 100 Mean: 4SE-2 200 60 1||#8 » QJT965 4SN5 450 Mean: 4SN5 450 20 5
v Q98 2HE2 -110 -20  2NE-2 200 60 1 v AKT2 3NS4 430 400 3NS5 460 2.0 4
¢ J93 Dif: 210 NS:3  3SE-1 100 3.0 1 . Dif: 20 Ns:2 3NSs4 430 1.0 3
& J962 IMP: 5 EW:3 3NE-1 100 3.0 1 & K54 IMP: 1 EW:-1 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
9 NS: B Z2FHHEC) 21 1 NS: &30;8 SEGR(FIO) -1 VP:| 18.04 : 1.96 | Total VP: 52.75 Rank:
EW: 872 BEfisFEE0) 11 EW: SBELIR SBEUR(BAC) -2 IMP:| 35 : 7 14
o A -
#1 45 3SE3 140 Mean: 3DW-6 300 9.0 1 |[#2 s T7 3SW3 140 Mean: 1NE-3 150 50 1
v A9 4SE-1-50 -100  4SXE-1 100 50 3 v KJ873 1NE-2-100 -20  1NE-2 100 30 3
«» AK97 Dif: 190 NS:4 4SE-1 50 40 3 ¢ QT9 Dif: 240 NS:3  4SW-1 50 20 2
& A98643 IMP: 5 EW:1 3SE3 140 1.0 2 & AT9 IMP: 6 EW:3 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 763 5DXS-3 500 -9.0 1 ¢ VAN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 -480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE4 620 Mean: 5SE-1 100 120 1
6HS6 -980 650  4HS6 480 50 8 v A82 4SE5 650 -580  4SE4 620 1.0 4
Dif: 500 NS:8 4HN6 480 -50 1 ¢ 765 Dif: -30 NS:-2 5SE5 650 2.0 1
IMP: 11 EW:5 & JT53 IMP: -1 EW:1 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-1 100 Mean: 3NS4 630 120 1 ||#6 s J5 3CS3 -110 Mean: 3CS3 110 40 4
v 983 3NN3 -600 -10  3NN3 600 120 2 v JT 3SW3 140 -20 3CN4 130 40 1
+ KJ3 Dif: 700 NS:12 3CN3 110 3.0 1 + Q854 Dif: -250 NS:-3 1NN1 90 30 1
& AJ963 IMP: 12 EW:3 4CN-1 100 3.0 1 & KQJ97 IMP: -6 EW:-4 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 1SE2 110 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS4 -430 Mean: 4SN5 450 20 5
v Q98 2SE2110 -20  2NE-2 200 60 1 v AKT2 4SN5 -450 400 3NS5 460 2.0 4
¢ J93 Dif: 0 NS:-3 3SE-1 100 3.0 1 . Dif: 20 Ns:2 3NSs4 430 1.0 3
& J962 IMP: 0 EW:3 3NE-1 100 3.0 1 & K54 IMP: 1 EW:-1 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
1 O NS: RiAM= BEZEEAC) 10 8 NS: &R HEEBEIO) -6 VP:| 14.68 : 5.32 Total VP: 102.22 Rank:
EW: R854 o[ ZE(BFO) 6 EW: #imE EEE(BAC) 1 IMP:| 24 : 11 3
A —
#1 45 6DXS-3 500 Mean: 3DW-6 300 9.0 1 |[#2 s T7 1NE-3 -150 Mean: 1NE-3 150 50 1
v A9 4SXE-1-100 -100  4SXE-1 100 50 3 v KJ873 1NE-2-100 -20  1NE-2 100 30 3
» AK97 Dif: 600 NS:5 4SE-1 50 40 3 + QT9 Dif: -50 NS:3 4SW-1 50 20 2
& A98643 IMP: 12 EW:9 3SE3 140 1.0 2 & AT9 IMP: -2 EW:-5 1NE-1 50 20 1
& AT94 » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||« 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 -480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE4 620 Mean: 5SE-1 100 120 1
6HS6 -980 650  4HS6 480 50 8 v A82 4SE4 620 -580 4SE4 620 1.0 4
Dif: 500 NS:8 4HN6 480 -50 1 ¢ 765 Dif: 0 NS:-1 5SE5 650 2.0 1
IMP: 11 EW:5 & JT53 IMP: 0 EW:1 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2200 Mean: 3NS4 630 120 1 ||#6 s J5 3CS3 -110 Mean: 3CS3 110 40 4
v 983 3NN-3300 -10  3NN3 600 120 2 v JT 3CN4 -130 -20  3CN4 130 40 1
+ KJ3 Dif: -100 NS:-7 3CN3 110 3.0 1 + Q854 Dif: 20 NS:4 1NN1 90 30 1
& AJ963 IMP: -3 EW:5 4CN-1 100 3.0 1 & KQJ97 IMP: 1 EW:-4 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 ¢ J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 3NE-1-100 Mean: 4SE-2 200 60 1||#8 » QJT965 4SN5 -450 Mean: 4SN5 450 20 5
v Q98 2HE2 110 -20  2NE-2 200 60 1 v AKT2 3NS4 -430 400 3NS5 460 2.0 4
¢ J93 Dif: -210 NS:-3 3SE-1 100 3.0 1 . Dif: 20 NS:1  3Ns4 430 1.0 3
& J962 IMP: -5 EW:-3 3NE-1 100 3.0 1 & K54 IMP: -1 EW:-2 3NS3 400 0.0 1
» KJ97 ~ AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




[12EEF > FFERE LR 2 ——> RS

#1: 13 JEH (127.18) #2: 11 BB 5 (115.96) #3: 10 FFHR(102.22)

NS: % T BREE=EIC) 8 NS: =258 E3%F(BFO) -9 VP:| 15.23 : 4.77 Total VP: 115.96 Rank:
EW: BRZEE @ EH(BH0) 9 EW: Z=§E58 Z#EEF(BAC) -8 IMP:| 24 9 2
I A -
45 4SXE-1 -100 3DW-6 300 9.0 1 |[#2 s T7 1NE-1 -50 Mean: 1NE-3 150 50 1
v A9 5DXS-2 300 4SXE-1 100 50 3 v KJ873 4SW-1-50 -20  1NE-2 100 30 3
«» AK97 Dif: -400 4SE-1 50 40 3 ¢ QT9 Dif: 0 NS:2 4SW-1 50 20 2
& A98643 IMP: -9 3SE3 140 1.0 2 & AT9 IMP: 0 EW:-2 1NE-1 50 20 1
» KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
~ T7 5HXS-3 500 -9.0 1 ||« 87654 » KQ
V&N 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
1 ~ ~ ¢ T8642 N ~~1~1 v Q654
1~ ~ ¢ Q862 S ~~1~1 ¢743
~32 a5 E 12~3~ #J32
~32 W 12~3-~
4HN6 -480 6HS6 980 80 5 ||#4 » K54 4SW5 650 Mean: 5SE-1 100 120 1
6HS6 -980 4HS6 480 50 8 v A82 4SE4 620 -580 4SE4 620 1.0 4
Dif: 500 4HN6 480 -50 1 ¢ 765 Dif: 30 NS:-1 5SE5 650 2.0 1
IMP: 11 & JT53 IMP: 1 EW:2 4SW5 650 20 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
s Q2 3NN-2 200 3NS4 630 120 1 ||#6 s J5 3SW3 140 Mean: 3CS3 110 40 4
v 983 3NN-2 200 3NN3 600 120 2 v JT 3CS3-110 -20  3CN4 130 40 1
* KJ3 Dif: 0 3CN3 110 3.0 1 ¢ Q854 Dif: 250 NS:4 1NN1 90 30 1
& AJ963 IMP: 0 4CN-1 100 3.0 1 & KQJ97 IMP: 6 EW:3 3CN-1 50 1.0 1
& KJ976 3NN-1 100 -3.0 1 ||s Q9643 » AT82 3SW3 140 3.0 7
v T752 3NS-2 200 -50 1 v K983 — v A4
¢ 75 3NN-2 200 -50 4 ||e A73 * J96
»~ Q2 4HS-3 300 70 1 ||a6 » 8542
SN ,T83 3NN-3 300 7.0 1 * VAN 4, K7
~ 1 « AKQ6 3NN-4 400 90 1|IN 311~~ & Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 1SW3 140 4SE-2 200 60 1||#8 » QJT965 3NS5 -460 Mean: 4SN5 450 2.0 5
v Q98 3HE-1 -100 2NE-2 200 60 1 v AKT2 4SN5 -450 400 3NS5 460 2.0 4
¢ J93 Dif: 240 3SE-1 100 3.0 1 . Dif: -10 NS:2 3Ns4 430 1.0 3
& J962 IMP: 6 EW:3 3NE-1 100 3.0 1 & K54 IMP: 0 EW:-2 3NS3 400 0.0 1
» AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
+ v T752 1NE1 90 20 1 ||e 543 v J97
¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
S aT5 2SE2 110 -3.0 1 ||a 972 » JT8
VAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
~ ~~ 9AK 1SW3 140 -30 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 1SE2 110 -3.0 1 S 5~554 ¢ KJ65
2 2 2 &AKT3 3CS-2 200 50 2 ||E ~~~~~ & AQ63
222 W ~~~~~




[12EEF > FFERE LR 2 ——> RS

#1: 13 JEH (127.18) #2: 11 BB 5 (115.96) #3: 10 FFHR(102.22)

NS: f3{FE #HFEBEAC) -7 NS: BREAEE S21_(FF0) 22 VP:| 2.50 17.50 | Total VP: 75.47 Rank:
EW: ZEREJE EE/KEHO) -22 EW: GRS RIER(BAC) 7 IMP:| 6 03 7
I A -
45 4SXE-1 -100 3DW-6 300 9.0 1 |[#2 s T7 3SW3 140 Mean: 1NE-3 150 50 1
v A9 4SE-1 -50 4SXE-1 100 50 3 v KJ873 3SW3 140 1NE-2 100 30 3
«» AK97 Dif: -50 4SE-1 50 40 3 ¢ QT9 Dif: 0 NS:-3 4SW-1 50 20 2
& A98643 IMP: -2 3SE3 140 1.0 2 & AT9 IMP: 0 EW:3 1NE-1 50 20 1
» KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
~ T7 5HXS-3 500 -9.0 1 ||« 87654 » KQ
V&N 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
1 ~ ~ y T8642 N ~~1~1 v Q654
1~ ~ ¢ Q862 S ~~1~1 ¢743
~32 &5 E 12~3~ &J32
~32 W 12~3-~
6HS6 -980 6HS6 980 80 5 ||#4 » K54 5SE5 650 Mean: 5SE-1 100 120 1
4HS6 -480 4HS6 480 50 8 v A82 4SE5 650 -580 4SE4 620 1.0 4
Dif: -500 4HN6 480 -50 1 ¢ 765 Dif: 0 NS:-2 5SE5 650 2.0 1
IMP: -11 & JT53 IMP: 0 EW:2 4SW5 650 20 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
s Q2 3NN3 -600 3NS4 630 120 1 ||#6 s J5 3SW3 140 Mean: 3CS3 110 40 4
v 983 3NN-2 200 3NN3 600 120 2 v JT 3CS3 -110 3CN4 130 40 1
* KJ3 Dif: -800 3CN3 110 3.0 1 ¢ Q854 Dif: 250 NS:4 1NN1 90 30 1
& AJ963 IMP: -13 4CN-1 100 3.0 1 & KQJ97 IMP: 6 EW:3 3CN-1 50 1.0 1
& KJ976 3NN-1 100 -3.0 1 ||s Q9643 » AT82 3SW3 140 3.0 7
v T752 3NS-2 200 -50 1 v K983 — v A4
¢ 75 3NN-2 200 -50 4 ||e A73 * J96
»~ Q2 4HS-3 300 70 1 ||a6 » 8542
SN ,T83 3NN-3 300 7.0 1 * VAN 4, K7
~ 1 « AKQ6 3NN-4 400 90 1|IN 311~~ & Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 3HE-1 -100 4SE-2 200 60 1||#8 » QJT965 4SN5 -450 Mean: 4SN5 450 2.0 5
v Q98 1NE1 90 2NE-2 200 60 1 v AKT2 4SN5 -450 3NS5 460 2.0 4
¢ J93 Dif: -190 3SE-1 100 3.0 1 . Dif: 0 NS:2 3Ns4 430 1.0 3
& J962 IMP: -5 3NE-1 100 3.0 1 & K54 IMP: 0 EW:-2 3NS3 400 0.0 1
» AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
+ v T752 1NE1 90 20 1 ||e 543 v J97
¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
S aT5 2SE2 110 -3.0 1 ||a 972 » JT8
VAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
~ ~~ 9AK 1SW3 140 -30 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 1SE2 110 -3.0 1 S 5~554 ¢ KJ65
2 2 2 &AKT3 3CS-2 200 50 2 ||E ~~~~~ & AQ63
222 W ~~~~~




[12EEF > FFERE LR 2 ——> RS

#1: 13 JEH (127.18) #2: 11 BB 5 (115.96) #3: 10 FFHR(102.22)

NS: T Z=HBLEAC) -2 NS: 854 £EX(FO) -34 VP:| 18.37 : 1.63 | Total VP: 127.18 Rank:
EW: EEH 2k J5IEEH0) 34 EW: &g EZE(FiC) 2 IMP:| 37 : 7 1
I A -
a5 5DXS-3 500 3DW-6 300 9.0 1 |[#2 s T7 3SW3 140 Mean: 1NE-3 150 50 1
v A9 3SE3 140 4SXE-1 100 50 3 v KJ873 2HN-1100 -20  1NE-2 100 30 3
«» AK97 Dif: 360 4SE-1 50 40 3 ¢ QT9 Dif: 40 NS:-2 4SW-1 50 20 2
& A98643 IMP: 8 3SE3 140 1.0 2 & AT9 IMP: 1 EW:3 1NE-1 50 20 1
» KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
V&N 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
1 ~ ~ ¢ T8642 N ~~1~1 v Q654
1~ ~ ¢ Q862 S ~~1~1 ¢743
~32 a5 E 12~3~ #J32
~32 W 12~3~
4HS6 -480 6HS6 980 80 5 ||#4 » K54 4SE5 650 Mean: 5SE-1 100 120 1
6HS6 -980 4HS6 480 50 8 v AB2 3NW5 660 -580 4SE4 620 -1.0 4
Dif: 500 4HN6 480 -50 1 ¢ 765 Dif: -10 NS:-2 5SE5 650 2.0 1
IMP: 11 & JT53 IMP: 0 EW:2 4SW5 650 20 2
& QT74 & AT98 & Q763 4SE5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
s Q2 3CN3 -110 3NS4 630 120 1 ||#6 s J5 3SW3 140 Mean: 3CS3 110 40 4
v 983 3NS-2 200 3NN3 600 120 2 v JT 1NN1-90 -20  3CN4 130 40 1
* KJ3 Dif: -310 3CN3 110 3.0 1 ¢ Q854 Dif: 230 NS:3 1NN1 90 30 1
& AJ963 IMP: -7 4CN-1 100 3.0 1 & KQJ97 IMP: 6 EW:3 3CN-1 50 1.0 1
& KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v T752 3NS-2 200 -50 1 v K983 — v A4
¢ 75 3NN-2 200 -50 4 ||e A73 * J96
»~ Q2 4HS-3 300 70 1 ||a6 » 8542
SN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
~ 1 « AKQ6 3NN-4 400 90 1|IN 311~~ & Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 3CS-2 200 4SE-2 200 60 1||#8 » QJT965 6SN-1 50 Mean: 4SN5 450 20 5
v Q98 3CS-2 200 2NE-2 200 60 1 v AKT2 3NS5 -460 400 3NS5 460 2.0 4
¢ J93 Dif: 0 NS:-5 3SE-1 100 3.0 1 . Dif: 510 NS:2 3NS4 430 1.0 3
& J962 IMP: 0 EW:5 3NE-1 100 3.0 1 & K54 IMP: 11 EW:10 3NS3 400 0.0 1
» AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
+ v T752 1NE1 90 20 1 ||e 543 v J97
¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
S & T5 2SE2 410 -3.0 1 ||a 972 » JT8
VAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
~ ~~ 9AK 1SW3 140 -30 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 1SE2 110 -3.0 1 S 5~554 ¢ KJ65
2 2 2 &AKT3 3CS-2 200 50 2 ||E ~~~~~ & AQ63
222 W ~~~~~




X AN >\ ¢ —_—
8 122 2RABERFELB 2 ==> RS 8
1 +
#1: 13 JHH127.18) #2: 11 BB 252 (115.96) #3: 10 JF3(102.22)
1 4 NS: FiEsl BE=EC) 12 6 NS: #iRREA BRZEH(BAO) -24 VP:| 17.69 : 2.31 Total VP: 82.38 Rank:
EW: BE&RZz A EI0) 25 EW: B335 & k1l(BAC) 1 IMP:| 34 : 8 5
- A -
#1 45 5HXS-3 500 Mean: 3DW-6 300 9.0 1 |[#2 s T7 4SW-1-50 Mean: 1NE-3 150 50 1
v A9 3DW-6 -300 -100  4SXE-1 100 50 3 v KJ873 3SW3140 -20  1NE-2 100 30 3
«» AK97 Dif: 800 NS:9 4SE-1 50 40 3 ¢ QT9 Dif: -190 NS:-3 4SW-1 50 20 2
& A98643 IMP: 13 EW:9 3SE3 140 1.0 2 & AT9 IMP: -5 EW:-2 1NE-1 50 20 1
& AT94 f » KQJ82 3SE4 470 -20 1 ||a 9532 » KJ86 2HN-1 4100 20 1
v QJ75 v K3 5DXS-2 300 50 1 ||e AT I v 92 3SW3 140 -3.0 6
¢4 ¢ JT53 6DXS-3 500 -9.0 1 J5 + AK862
* KQJ2 ~ T7 5HXS-3 500 -9.0 1 ||a 87654 » KQ
® VBN 4,763 5DXS-3 500 -9.0 1 ¢V AN 4, AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 -480 Mean: 6HS6 980 80 5 ||#4 » K54 4SE5 650 Mean: 5SE-1 100 120 1
4HS6 -480 650  4HS6 480 50 8 v A82 4SE5 650 -580 4SE4 620 1.0 4
Dif: 0 NS:-5 4HN6 480 -50 1 ¢ 765 Dif: 0 NS:-2 5SE5 650 2.0 1
IMP: 0 EW:5 & JT53 IMP: 0 EW:2 4SW5 650 2.0 2
& QT74 & AT98 & Q763 4SES5 650 -2.0 5
v J6 v KQT4 + v J6 3NW5 660 20 1
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 4HS-3 300 Mean: 3NS4 630 120 1 ||#6 s J5 3CN-150 Mean: 3CS3 110 40 4
v 983 3NS4-630 -10  3NN3 600 120 2 v JT 3SW3140 -20 3CN4 130 40 1
+ KJ3 Dif: 930 NS:12 3CN3 110 3.0 1 + Q854 Dif: -90 NsS:-3 1NN1 90 30 1
& AJ963 IMP: 14 EW:7 4CN-1 100 3.0 1 & KQJ97 IMP: -3 EW:1 3CN-1 50 1.0 1
& A54 & KJ976 3NN-1 100 -3.0 1 ||a Q9643 » AT82 3SW3 140 3.0 7
v J4 v T752 3NS-2 200 -50 1 v K983 — v A4
¢ AT842 ¢ 75 3NN-2 200 -50 4 ||e A73 * J96
& T74 » Q2 4HS-3 300 70 1 ||s6 » 8542
FOVAN ,T83 3NN-3 300 7.0 1 FOVABN 4 K7
N 4 ~3 ~1 v AKQ6 3NN-4 -400 9.0 1 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 2SW3 140 Mean: 4SE-2 200 60 1||#8 » QJT965 3NS3 -400 Mean: 4SN5 450 20 5
v Q98 3SE-1-100 -20 2NE-2 200 60 1 v AKT2 3NS4 -430 400 3NS5 460 2.0 4
¢ J93 Dif: 240 NS:3  3SE-1 100 3.0 1 . Dif: 30 Ns:1 3NS4 430 1.0 3
& J962 IMP: 6 EW:3 3NE-1 100 3.0 1 & K54 IMP: 1 EW:0 3NS3 400 0.0 1
» KJ97 » AQ62 3HE-1 100 3.0 2 ||s K87 a A43 6SN-1 50 -10.0 1
v J643 + v T752 1NE1 90 20 1 ||e 543 v J97
¢ K4 ¢ AQ8 2SW3 140 3.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2SE2 410 -3.0 1 ||a 972 » JT8
P OVAN ,T8 2HE2 110 -3.0 1 *OIVAN o2
N 11~~~ 9AK 1SW3 140 30 1[IN 5~554 v Q86
S 11~~~ ¢T7652 1SE2 410 30 1S 5~554 ¢ KJI6S5
E ~~222 &AK73 3CS-2 200 50 2 ||E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




